Robot Maths - Collecting like terms

Simplify 4x - 3y + 5x - 6 - 2y

I I

I I

| 4x + 5X |

1) Put the terms into groups of : |
: : : l -3 -2 |

the same type, including the sign | Y Y I
which comes before each term I I
| _6 I

I I

I I

3) Make your final answer clear using a full number sentence

A% -3y +5x-6-2y =
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Robot Maths - Collecting like terms

Simplify

1) Put the terms into groups of
the same type, including the sign
which comes before each term

3) Make your final answer clear using a full number sentence
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